3 (Sem-5/CBCS) PHI SE

2021
( Held in 2022 )

PHILOSOPHY
Paper : PHI-SE-5014
{ Reasoning and Logic )
( Skill Enhancement ) |

Full Marks : 50
Time : 2 hours

The figures in the margin indicate full marks
' for the questions

Answer either in English or in Assamese

1. Answer the following questions : - » 1x5=5
O BfPTRA Bed for

(a) “In a valid argument, if the premises are
false, the conclusion cannot be true.” Is
this statement true?
9Bl 034 I SrR ST 2 Prare T
2’3 (AR 1" @3 FUER A ?

(b) State the meaning of the Greek word
‘Soros’.

N *=1 ‘Soros’3 u 7 |
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(2)

{c) Name the chief fallacy under which the
fallacy of petitio principii is included.
Petitio principii (*RCHI (FWCOI IH A
TEES, 1RO W o |

{d) “Argument Non Causa Pro Causa is also
known as the fallacy of true cause.” Is
this statement true?

‘“‘Argument Non Causa Pro Causa®
STe] FRY (N Ieis wA AW @R FINR
O ?

(e) State the meaning of the word ‘fallacy’
used in logic.

Reme TR @A G’ *FoE 9y e |

2. Answer the following questions : 2x3=6
S 2P e ford
(a) State two characteristics of deductive
argument.
Tt Srepea o1 CafiEy fers o

(b) Define mediate inference.

WY S T for |

{c) Give example of Hasty Generalization.

et MYRAFIR Turzsel |
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(3)

3. Answer any three of the following questions :

S5x3=15

were fira epprped R e fefabm Tea for

(@)

(b)

()

(d)

(e)

Write a short note on enthymeme.

Enthymeme 7=7t$ «fb 55 G fr4 |

Distinguish between mediate and
immediate inferences.

TG S TGN AR S N (7S |

Distinguish between proposition and
argument.

o7 A J(&q TS AL (ST |

Write a short note on Argument ad
Ignorantiam.

Argument ad Ignorantiam 7=7t$ «fp 12
el o o

What is fallacy of division? Explain
various kinds of fallacy of division.
fRerem oy e & gon 2 Remm o Rfen
21 AN 41

4. Answer any three of the following questions :

et fiet eppipRd R e oo Sew for -

(@)
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8x3=24

Define argument. Distinguish between
deductive argument and inductive
argument.

e wgE fian | e 6 S SRR
e Mo A TSl |
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(4)

(b) Write an essay on ‘syllogism in ordinary
language’.
AR SRS A’ o G o1 o |

(¢ Why is Argument ad Populum
considered as a fallacy? Explain the
fallacy with suitable examples. 2+6=8
Argument ad Populum ¥ & @B o qf=
RN T W? TRE TRITR G CTECO!
IRAFAN

(d) State the meaning of the phrase ‘ad
: hominem’. Distinguish between two
major forms of the Argument ad
-Hominem.
‘ad hominem’ IRNLMER W ol
Argument ad Hominemd ‘iﬂ! I AP
s N4 fefa 41 |

(e) Elucidate the fallacies of the Red
Herring and the Straw Man with
suitable examples.

Red Herring ¢ Straw. Man @@ 1§ :
701 TR TR (e q2eiR fordl |
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